FERHEETWHRAA

FENGSHUN COUNTY TAIYADA INDUSTRIES.,LTD

_, f ~ e
[AWADy‘

TarvabDa A Bt e




T T aNY3aDa

WA TR NS |

BABMBRIRTRERIPEREA

IN 2017 Become the Key enterprise of intellectual property =
protection in Meizhou City . THEV

IN2018 HWEAEMIERL

BE THAMELELNN LT

Be awarded as Meizhou Engineering Center FRAERFET MbL
IN 2020 ZERMBALN S
Be awarded as New High-tech Enterprise &
IN 2021 B/ FEARWEE L g
Establish a Guangdong TAIYADA Doctoral Station ke G

IN2019-F£45 WEAE/EHP DL AWK R
- “y Beawarded as “Specializing in new small and —_—
medium-sized enterprises” IR T e
PEAANTLECERT A

FlRBHFMHETWRRAAE—RERKL. &it. HIEF—HOITURHMRE
FUETH, AFHETF2008FE, FF15ESHFEFHPMER, EEHABE
HRTE@RELEZ—,

SREEWHTFrFEEMNT, EMER3000AT, BRARAMILUR, &
ZEFHAFTRSCH, 2RABBTTHCH I BEMESHANR, TS HE S
HROAFEHRK, 20BRLAMETEMISEZRT  AFTREMETRED,
CRTFRMAR T, aREE,. CLEE, THEESFEZAFEAMETLAL . &
‘REM” . "R’ ‘TN SATHRLABAMAT. SEFROE N,
EMNMUZURREOHEE “ER"mBOEASG, REREAEHZHEE"
BEREVROULTREMEESOHE, REBNEPHEBISXHE, HNARE
BEREK “ARLT. AHSBITHSIRME" BES, HEEH, FHERE

HRERAHEZTAOWFEE, ERNBFSE, HERRK

Fengshun County Taiyada Industrial Co., Ltd. is a professional manufacturer of industrial
casters, which integrates R & D, design and manufacture.Founded in 2008, after more than
15 years of continuous development, the company has become one of the leading enterprisesin
China's caster industry.

Taiyada Industry is located in Meizhou City, Guangdong Province, with a registered capital
of 30 million RMB. Since its establishment, Taiyada Industry has made great efforts to develop
and innovate for many years.The company has its own factory park and production team, the
factory park covers an area of 60000 square meters.More than 20 fully automatic production lines
and more than 300 employees;lt brings together professionals in product development and design,
quality management, enterprise management, market management and other fields.It has a
stable production capacity. Apply "stability,” “practicality,” and "observability" to every detail
on the caster.Through unremitting efforts, we have successfully achieved the goal of “prolonging
the service life of products” with professional technology.Reduce the labor intensity of users, so
it has created a good reputation and reputation in the industry.Thanks to every customer's trust
and support, our company will continue to uphold the mission of "fulfilling social responsibility
for employees and society".Continuous innovation and excellence.

Warmly welcome new and old customers to negotiate business, let us work together to create

the future!



[EE{®E - QUALITY GUARANTEE

T, FEMATHHREEK

PROFESSIONAL,
FROM THE PERSISTENT PURSUIT OF EVERY DETAILS.

3% M & B = st Fn = ) Aol

EN+5SERRAPHERER, BNBATFEHN “ART. AHSET
#HERE" HEDES, BTERNRBE. HiE. BFZFLABEREEH.
BiNKEEIRHORERMNRIMEMNBORE, LEAERSEFHILER
e n R BRAE o

TAIYADA QU ALITY TEST AND CONTROL CENTRAL

WE ATTACH GREAT IMPORTANCE TO THE USER EXPERIENCE, WE ARE COMMITTED TO
ACHIEVING THE CORE MISSION OF “FULFILLING SOCIAL RESPONSIBILITY FOR EMPLOYEES
AND SOCIETY", AND CARRY OUT STRICT QUALITY CONTROL OF THE WHOLE PROCESS OF
PRODUCT DEVELOPMENT, MANUFACTURING AND SERVICE. WE HOPE TO ACHIEVE OUR
COMMITMENT THROUGH STRICT QUALITY TESTING, SO THAT USERS CAN GET BETTER
INDUSTRIAL HIGH-QUALITY CASTERS.

- -
=B
i

At THER
e

HFE K& P EZE )
ASSEMBLY WORKSHOP STAMPING WORKSHOP INJECTION WORKSHOP

B — " e |5'_—_
Poaa
w oy 9
3 W) : - &
L7k % 7] ih 35 i it RETEMS
ELECTROPHORESIS WORKSHOP CORROSION TEST MACHINE DYNAMIC LOAD TESTER
) | Tl

1 ZE st JFE 4R 52 3 i st = R i it

BRAKE TESTING MACHINE BASE SHAKING TEST HIGH-LOW TEMPERATURE TEST



BA® A - TECHNOLOGY R&D

—HEHBEEH, Fa¥FRTRIE
ALWAYS ADHERE TO INDEPENDENT INNOVATION,
COMBINED WITH SCIENTIFIC DESIGN PRINCIPLES.

EA—FKIUZHBRZTULE"H, ZHEHNRBLETHSEVUEEH
BIHMASREHR, HERFEFRML. EFLHTEARESRFH
T B9 17 b 93 56 3t 41

FREMBT2021FRBATHREEA FEGLE, CRTXETUL
ARRHFEARAREZAR, RAEEBEMARTRBNTRNZR20RT, FHEK
NSERAZM—RAEEREMAZANAFRT N ZHXREE, EIT W
Rit. MR FFAEMETRENHS

As a professional manufacturer of industrial casters, Taiyada casters always attaches
greatimportance to its own innovative research and development and equipment upgrading,
and continues to maintain its leading position in product research and development, production
strength and team training.
Taiyada Caster established Taiyada Guangdong Doctor Station in 2021, which brings
together a large number of top R & D personnel in the industry and has more than 20 patented
technologies with independent intellectual property rights. At the same time, we have carried
out extensive exchanges and cooperation with many first-class universities and scientific
research and academic institutions in China, and have made great progress in industrial design,

material mechanics and other fields.

i ) =

SAFTYHE - CARTUHER

— — | [—

}:L (22 l; = i '4 Pa thr M| FER ) L tme TH




T ®BALL  RIRIEMLE - GLOBAL SALES NETWORK

T T aNY3aDa

REHRAR £3KHEH

BASED ON THE CHINESE TECHNOLOGY
AND WORLD WIDE PERSPECTIVE

FHETFHFRaRNAEEE, YRFAVTHOFBIER,

ZF1FEMER, RINELBAITERLIKMEHEML,

BN rFaBsPEXMEE THE;

RIEOXE, B/, SFELIT, KA, ZA%H, ZE. 2%, FEF264
ERMME, HINPH-RGUELKTZHOAFPREHK,
EFMARSEHRERHMENAHATHHDER.
EEETUH 2R EHEECIREKRETT

Benefit from the persistent focus on product quality, on details of our services,

We are proud of the sales-net in the world wide based on the hard works for the past 15 years.
Our produts enjoys the most market of canton provinces and the relative cities;

Exporting to more than 26 countries including:

American, Brazil, Colombia, Egypt, Venezuela, United Kingdom, Saudi Arabia, Thailand,Ect...
Recognition and trust of customers will inspires us to continue to move on the power source.




2 HF - PRODUCT CONTENT

7&: = ﬁ = m :]:] E 01-03

ARTICLE NO. INSTRUCTION

SREREFARE B 04-06

INSTALLATION ALLOCATION

LIGHT DUTY DOUBLE BALL BEARING CASTER

BRMBRT B 09-12

LIGHT DUTY CASTER SERIES

B2 EITPRIEIE R 51 R e B 13-22

LIGHT DUTY TPR CASTER SERIES

T b B3 % 51— . Q

INDUSTRIAL CASTER SERIES—BALL BEARING

23-26

I_\ilzﬂﬂl%ﬁ?ll—ﬂim .......................................................... E 27

INDUSTRIAL CASTER SERIES—SINGLE BALL BEARING

PRI R B AR R - I 28-29

MID/LIGHT GERY PVC CASTER SERIES

B R SUS——— |

TRAMNSPARENT CASTER SERIES

EAR RS —NEH E———— - 7

TRANSPARENT CASTER SERIES—BALL BEARING

TRANSPARENT CASTER SERIES—OFFICE CHAIR




S gkl Fmémsin

T TEIvYaDo Article NO. Instruction

1. 57," ﬁ' iﬁ 5‘& _ﬁ;. ﬂ: N é’l M8 *25 (Double Ball Bearing PVC Caster Double brake 2-inch Thread brake 8*25)

ENOD - CDEES - D - £ - (23

IiﬂﬁﬁiﬁRTj' (Threaded Size/Ring Stem)
$FiEER (Bearing types)

BFE&E (Wheelcolor)

BFiE (Wheel material)

HEERMEAME (Bracket surface treatment)
F4EE (Bracket Thickness)
2IEFZEFT (Fitting types/Brake mode)
BFEFE (Wheel Diametermeter)
EEERET (Caster Wheel Series)

—

BEe FX =X B RS REFKX REHKX XREE
Caster Type Wheel Size Installation Method Installation Method Bracket Thickness
- 173 F—01 F LSB
(Light Dl%fgaster] 1" Caster—01 & 7 (Fixed) £ FF 11 3] (Lead Screw Side Brake) 1.2—12
J 1.5 8 F—015 S LDB
m (Blak Di?n‘ffr?g(:asteri 1.5" Caster—015 %ﬂ[SWIVel} £33N 3 (Lead Screw Double Brake) 1 -5_1 5
M 28 F—02 SB LRB
. [Mediusgﬁfy?(:aster:_ | 2" Caster—02 - ﬂ%‘]‘lSide Brake} - ﬂﬁﬁﬁj ':LeadS:rewﬂeanrake]_ - 1 8_1 8
G 2548 F—025 DB PS
{Gmﬂzﬁf& ster) 2.5" Caster—025 M #l(DoubleBrake) ii#fi&sh (PlugSwivel 2.0—20
T 37 5 F—03 RB PSB
E n x - 2.3_23
o ausparﬁﬁ:am” 3" Caster—03 f5 ®l(Rear Brake)  if#Fifi# (Plug Side Brake) ‘
4 4T 5F—04 L PDB 1.9—12
" o # ¥ (Lead) ; .
4" Caster—04 $&EHF M (Plug Side Brake)
5 #F—05 P HS
5" Caster—05 &+ (Plug) FLIE;E SN (Hole Swivel)
6T#+—06 P HSB
6" Caster—06 & #F(Plug) FLTHih % (Hole Side Brake)
H HDB
FLIG(Hole) FLIE 3| (Hold Double Brake)
LR | LRF
Lﬂ{L-ShapedRightangle’ LWEREE .
(L-shape Right Angle Fixed)
LRS
. FS . LREAAM
) IR &3 (Flat Swivel) _(I_.-shape Right Angle Swivel_} B
LRB
i LRE/ZNE

I AF (Flat Side Brake) (L-shape Right Angle Brake)

FDB SW
3£ 3% (Flat Double Brake) 4 (Single Wheel)

FRB LS
F &5 3 (FlatRear Brake) ##Fi& &) (Lead Screw Swivel)



e BRETL

7 Tasvapa

7= an 4 = i B

Article NO. Instruction

1. 57," ﬁ' iﬁ 5‘& ﬁ ﬁ N é’l M8 *25 (Double Ball Bearing PVC Caster Double brake 2-inch Thread brake 8*25)

ENOD - CDEES - D - £ - (23

IiﬂﬁﬁiﬁRT.l’ (Threaded Size/Ring Stem)
$FiEER (Bearing types)

BFE&E (Wheelcolor)

BFiE (Wheel material)

HEERMEAME (Bracket surface treatment)
F4EE (Bracket Thickness)
2IEFZEFT (Fitting types/Brake mode)
BFEFE (Wheel Diametermeter)
EEERET (Caster Wheel Series)

TRERAIE MR Pt o BEHE by i 22 HY
Bracket Surface Treatment Wheel Material Wheel Core Wheel Core Bearing
E PP—P PP—P PP+TPRESIA—PTRAF  606—606
_ kR
m ggzas BK—R BRE—R PP+TPREEIN—PTRAO 608—608
ﬁcﬁ % —GR ®EE—GR  PP+TPRM—PTRE  6001—6001
S PVC—V PP+PVC—PV Pr+PUSEL—PUAO 6202—6202
B2
%&;# PU—U PP+PU—PU  prwPUstSHAI—PUAF  §015T—MD
/
1 TPR—TR  pp,PVCE—PVS PripUsikiEE—PUBH T B EI—ZMD
M ih—B PP+TPR—PTR  pp.pUmiiiE:s PUB0 SRHAF—LD
Bih—A PC+PU—CU BRpHE®—RID hEE_MG
Bih—oO0 PP+PVCIiHEID—PVBO TPRBIERELA—TPID dhE—M
imE—H PP+PVCILiiEE—PVEH
Hih—F PP+PVCEEL—PVAO
Biga s —JD PP+PVCE§i 7 il—PVAF




L gkl 7= n 4 S it BA

N TEIvaDpo Article NO. Instruction

1. 57," ﬁ' iﬁ 5‘& ﬁ ﬁ N é’l M8 *25 (Double Ball Bearing PVC Caster Double brake 2-inch Thread brake 8*25)

ENOD - CDEES - D - £ - (23

IiﬂﬁﬁiﬁRT.l’ (Threaded Size/Ring Stem)
$FiEER (Bearing types)
BFE&E (Wheelcolor)
BFiE (Wheel material)
HEERMEAME (Bracket surface treatment)
F4EE (Bracket Thickness)
2IEFZEFT (Fitting types/Brake mode)
BFEFE (Wheel Diametermeter)
EEERET (Caster Wheel Series)

bosdioio sy it st e
BEHE—0 A BaMELO—13 M6X8 M10X15
m HE—1 MEdE—16 M6X15 M10X20
qE—2 A& S E—14 M8X8 M10X25
Wae—3 M & shR—8 M8X10 M10X30
HE—4 t 2 5 B—94 M8X12 M10X35

/

BRE—5 M B 5L —93 M8X15 M10X38
Ee—6 K 7% 5h 4T—82 M8X20 M10X40
wRE—7 P % 5b lk—88 M8X25 M12X20
xRE—8 M8X30 M12X25
26—9 M8X35 M12X30
BAKBE—06 M8X40 M12X40
| maMdE—19 M8X45 M12X50
A BMHaT—12 M10X10 M12X60

M11X21



L AT YEREFRAERE

: —>7 T arvyaSaDa § .
= Installation Allocation

# B R 5 7

Liaht D rComhin

WEHES i Egputy \EA R 1+ i 3

& At R 57~ m

Black DiamondCaster Combination




L ST TRREAFRRE
~

Tarvyaiba . -
Installation Allocation

B 2 51 7= an

Medium DutyCaster Combination

5 2 51 7= an

Grey PVC Caster Comhbination

P

F Ty ©
Bz EEiE EREAH H¥FiEm M

© 4 o
WiTiEE & A FLIAE S FLI AR 3]



2 AT FHRREHFARE

T arvabDa - 7
Installation Allocation

i BA % 2 51 7~ an

Transparent Caster Combination




e A2 B & 5k W S B 56

Q 7 Tarvyaopa
Mid/Light Duty Double Ball Bearing Caster

. 4 4 I:I
BIpE R
Gaster Combination PVBO19 PVB0O94 PVBO12 PTRBSS

TR ALIE

Surface Coating

NO. © § & & B b o &

Model 11 TR Ve WD TR AR et Ry DS ey
JO15-F12E-PVBO19-608 PVC  40(1.5") 21 62 20.5 60x44  45X30 6.5 40
Jo2-F1BE-PVBO19-608  PVC 50(2") 25 72 20 70X51 52X35 8.5 50
J025-F23E-PVB019-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 60

=) "y 4 5

NO. 5 @ & o o &

Model 145 YETHA B m  HE )  FRAM(N WoFGee ERCIes R AR Ak ROE |
J015-FS12E-PVBO19-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 40
JO02-FS18E-PVB0O19-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 50
J025-FS23E-PVBO19-6001 PVC 63(2.5") 32 92 35 93X62 72X45 L 60

No. © @ § & ¢ @ or o &

i o Whese! Matertal Wheel Dia Wheel Width  OverallHelght  Swivel Radius Plate Size Hole Spac Hole Size Load Capaci 7
i Model 814 £ £ (mn} W (mm)  EREN(an)  FHEHEE () RERS l:? fl - (mm) % I(k:? i
J015-FDB12E-PVBO19-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 40
J02-FDB1BE-PVBO13-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 50
J025-FDB23E-PVEO19-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 60
f—_\. ;%« @ o e .
[\
NO. © /1 Xl
Wheel Material Wheel Dia Wheel Width Owerall Helght: Swiviel Rachius Threaded Size
Model B4 &% (mn) & (mm) SR (mm) SRR (nm) BHR i)
J015-LS12E-PVBO19-608-M8*25 PVC 40(1.5") 21 62 20.5 MB8/10x25 40
J02-LS18E-PVBO13-608-M8*25 PVC 50(2") 25 72 20 M8/10x25 50
J025-L523E-PVBO19-6001-M12#30 PVC 63(2.5") 32 92 35 M12x30 60
NO a i .
NO. 5§ @ & A 6
. Wheel Material Wheel Dia ‘Wheel Width Overall Height Swivel Radius Threaded Size Load Cay
Model B & ®THE 35 (mm) WK (am) L (nm) Heh 6 (o) #H R () #* R (kg
JO15-LDB12E-PVB0O19-608-M8*25  PVC 40(1.5") 21 62 20.5 M8/10x25 40
J02-LDB18E-PVBO19-608-M38*25 PVC 50(2") 25 72 20 M8/10x25 50
J025-LDB23E-PVB0O19-6001-M12430 PVC 63(2.5") 32 92 35 M12x30 60

F: FRRTHALTFIERMNE, £H1-3MMEE, VEALEHIR, BhUusSHhhE,



FR A2 B < B T 5 R 48

Mid/Light Duty Double Ball Bearing Caster

A _/’ "iiI"

BigiER
Caster Combination PVBO19 PVB0O94 PVBO12 PTRBS88

TR ALIE

Surface Coating

NO. © § & & B b o &

m mewms VI WmO Wawe oouem memh Sm RRE WRS RE
JO15-F12E-PVBO19-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 40
J02-F18E-PVBO19-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 50

J025-F23E-PVB019-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 60
=) "y 4 5
NO. 5 @ & o o &
Model 145 YETHA B m  HE )  FRAM(N WoFGee ERCIes R AR Ak ROE |
J015-FS12E-PVBO19-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 40
JO02-FS18E-PVB0O19-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 50
J025-FS23E-PVBO19-6001 PVC 63(2.5") 32 92 35 93X62 72X45 L 60

No. © © § & ¢ @ ©Brxr = &

i o Whese! Matertal Wheel Dia Wheel Width  OverallHelght  Swivel Radius Plate Size Hole Spac Hole Size Load Capaci 7
i Model 814 £ £ (mn} W (mm)  EHEHY (an) i (mm)  JEACR Al i (an fl - (mm) % I(k:?
J015-FDB12E-PVBO19-608 PVC 40(1.5") 21 62 20.5 60x44 45X30 6.5 40
J02-FDB1BE-PVBO13-608 PVC 50(2") 25 72 20 70X51 52X35 8.5 50
J025-FDB23E-PVEO19-6001 PVC 63(2.5") 32 92 35 93X62 72X45 9 60
f—_\. s%« @ o e .
[\
NO. il Al
Wheel Material Wheel Dia Wheel Width Owerall Helght: Swiviel Rachius Threaded Size
Model % 4% 1 &% (o) & (mm) 4SRN (mm) HahF R (nm) -3 71 ]
J015-LS12E-PVBO19-608-M8*25 PVC 40(1.5") 21 62 20.5 MB8/10x25 40
J02-LS18E-PVBO13-608-M8*25 PVC 50(2") 25 72 20 M8/10x25 50
J025-L523E-PVBO19-6001-M12#30 PVC 63(2.5") 32 92 35 M12x30 60
NO a 1 2
NO. 5§ @ & A 6
" Whee| Material Wheel Dia Wheel Width Overall Height Swivel Radius Threaded Size Load Cay
Model B4 £ FHE & (mm) HE (mm) SRR (mm ) b8 (nm) EHF R (am) * (kg
JO15-LDB12E-PVB0O19-608-M8*25  PVC 40(1.5") 21 62 20.5 M8/10x25 40
J02-LDB18E-PVBO19-608-M38*25 PVC 50(2") 25 72 20 M8/10x25 50
J025-LDB23E-PVB0O19-6001-M12430 PVC 63(2.5") 32 92 35 M12x30 60

F: FRRTHALTFIERMNE, £H1-3MMEE, VEALEHIR, BhUusSHhhE,



L mpAT 52 BIPVCH 4

&7 Tarvaprs Light Duty PVC Caster

No. ©® © § & § B o = &
B

: Wheel Matesial Wheel Dia Wheel Width  Overall Height  Swivel Radius Hole Size
! T4 R #4 (mn) %X (om) mm) SRR () il (e}

Plate Size
m)

L015-F12Z-PVS12-MD PVC 38(1.5") 17 16

L02-F12Z-PVS12-MD PVC 50(2") 22 65.5 19 58X46 45X34 6 35
L025-F12Z-PVS12-MD  PVC 63(2.5") 25 80 24 70X58  55x42 8 45
L03-F12Z-PVS12-MD PVC 75(3") 25 99 30 70X58  55X42 8 50

N © @ § & & B o o &

Model & RTHR RS m KR (e RRAM(w) WoFEe) RRRGee L i R RO |
L015-FS12Z-PVS12-MD PVC 38(1.5") 17 50 16 45X38 38X27 5 20
L02-FS15Z-PVS12-MD PVC 50(2") 22 65.5 19 58X46 45X34 6 35
LO25-FS182-PVS12-MD PVC 63(2.5") 25 20 24 70X58 55X42 8 40
L03-FS18Z-PVS12-MD PVC 75(3") 25 99 30 70X58 55X42 8 50

L (Tat] p—

NO. © © § & & B ©h o &

NO. © o]

Model %5 TETHR KBl  HK (m)  RRRE () HAREm0 ERCTGw A Rlen R K RO
L015-FDB12Z-PVS12-MD PVC 38(1.5") 17 50 16 45X38  38X27 5 20
L02-FDB15Z-PVS12-MD  PVC 50(2") 22 65.5 19 58X46 45X34 6 35
L025-FDB18Z-PVS12-MD PVC 63(2.5") 25 80 24 70X58 55X42 8 40
LO3-FDB18Z-PVS12-MD PVC 75(3") 25 99 30 70X58 55X42 8 50

» t 1] . - -
NO. O @ & &
g1 Al
Wheel Material Whaeel Dia ‘Wheael Width Owerall Heght Swivel Radus Threaded Size Lond Cay
Model M5 #FHE i (om) R (om) AT (mm ) HEh R (am) EFFR (om) & Wikg
L015-LS12Z-PVS12-MD-M8*25 PVC 38(1.5") 17 51 16 M8X25 20
L02-LS15Z-PVS12-MD-Mg*25 PVC 50(2) 22 65 19 mMex25 35
L025-LS18Z-PV512-MD-M12*30 PVC 63(2.5") 25 80 24 M8X25 40
L03-LS18Z-PV512-6001-M12*30 PVC 75(3") 25 88 30 M8x25 50
No bt et = =
NO. @ § o Xl
i Wheel Material Wheel Dia ‘Wheel Width Overall Helght Swivel Radius Threaded Size Load Cay H
1 ¥+ ' {nm nn i = m, mm ki ]
i Model T4 P 0 R (am) £ (un) BN nm) SR (am) SR (am) 3 R
L015-LDB12Z-PVS12-MD-M8%25 PVC 38(1.5") 17 51 16 M8X25 20
L02-LDB152-PVS512-MD-M8*25 PVC 50(2") 22 65 19 M8X25 35
L025-LDB18Z-PVS12-MD-M12%30 PVC 63(2.5") 25 1] 24 Max25 40
L03-LDB18Z-PVS12-MD-M12*30 PVC 75(3") 25 99 30 M8X25 50

F: FRRTHBHAFIERMNE, 2F1-3MMRE, SENTHHE, 1.5"R2"LFAEMI10X15, 2.5" B3 £ "#EM10X15/25,



G #iATL

7 Tarvaoa

2 REIPVCHI %

Light Duty PVC Caster

' : 4 : " 'l @) =
z
ERER KRR LIE e I
Caster Combination PVS12 PVS19 PVS16 Surface c::atlng
bt by
NO. ® § & & [ X ©
NO. © (3
| epas T Gl e convs g dnde Sy P —
LOT-F12Z-PVS12-MD PVC 25(1") 14 35 15 38x19 30 4.5 10
.‘
LD125-F12Z-PVS12-MD  PVC 30(1.25") 14 38 15 38X19 30 4.5 15
NO. g &g & o}
v s EVRT M WU N MR SN TS PHS
L01-F§12Z-PVS512-MD PVC 25(1") 14 35 15 38x33 30x24 45 10
L0125-F515Z-PVS12-MD PVC 30(1.25") 14 38 15 38x33 30x24 4.5 15

e e

L — =% 5 G 3
g & & [ ©)
R Wheel Mateial ~~ Wheel Dia Wheel Width ~ OverallHeight — Swivel Radius  Plate Size  Hole Spacing Hole Size mc,p.c-,gg |
Model T T3 5 (em) W (om) SRR (m)  HEPER (o) AT (on) L B (o) L f{om) K (ke
L01-FDB12Z-PVS12-MD  PVC 25(1") 14 35 15 38X33 30x24 4.5 10
L0125-FDB15Z-PVS12-MD PVC  30(1.25") 14 38 15 38x33 30x24 4.5 15
NO @ § 4 & X4
- @ T ¢ :
) “-") _=I £
H Whesl Material Wheel Dia Whesl Width Orvarall Height Swivel Radius Threaded Size Load Capaci H
: Model 55 e i (nn) ot (o) 4R (mm) Headi (wm) R () W i ks
Hﬁ"""'*‘ L01-LS122-PV512-MD-M8*15 PVC 25(1") 14 35 15 M8X15 10
L0125-LS15Z-PVS12-MD-M8*15 PVC 30(1.25") 14 38 15 M8X15 15
¥ Ut - =
NO. § ¢ & &
Wheal Material Wheel Dia Whesl Width Crverall Halght Swivel Radius Threaded Size Load Capa:

Model % 5 T HE 2 (an) £ (mn) S (mm) SRR (na) SR (o) i M (k.
L01-LDB12Z-PV512-MD-M8&*15 PVC 25(1") 14 35 15 M8X15 10
L0125-LDB15Z-PVS12-MD-M8*15 PVC 30(1.25") 14 38 15 M8X15 15

H: FmRIT#AMAMFIFERNE

A1-3MMEE, SETHARE, 1.65"H2"EFTEM10X15, 2.5"R3"# HFAIEM10X156/25



@ AT 42 81 P P 4%

TalyaDa

Light Duty PP Caster

AP ik AL

' HRRELE
Caster Combination “ n Surface Coating
NO. © @ § @ & B & o &

Wheel Dia  Wheel Width  OveraliHeight  Swivelfiadius  Plate Size  Hole Spacing Hole Size Lo!.dcma'rg
4 (mm) ) G (mm) SRR (mm) m) Al 1L () & :

i Model 5%

L015-F12Z-P1-MD PP 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-F12Z-P1-MD PP 50(2") 22 65.5 19 59X47 46X345 6.4 35
L025-F12Z-P1-MD PP 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-F12Z-P1-MD PP 75(3") 25 99 30 70X58 55X42 8.4 50

NO. 5 g &

! uodel m® YRR R R e it et RS s ey

L015-FS12Z-P1-MD PP 38(1.5") 17 50 16 45X38  38X27 5.2 20
L02-FS15Z-P1-MD PP 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-F518Z-P1-MD PP 63(2.5") 25 80 24 70X58 55X42 8.4 40
L03-FS18Z-P1-MD PP 75(3") 25 99 30 70X58 55X42 8.4 50

— ©@ © §F & ¢ [ & o &
Plate Size Hnl!Spa(I':? Hole Size Ln;c:;:ﬁ(u{ :

Wheel Material Wheel Dia Wheel Width  OverallHeight  Swived Radius
R (mn)  HERERE (em)  NEMLR (om) 9L FE (m

Mode!l %5 ®THR 4% (mn) FR () L 2lmn)
L015-FDB12Z-P1-MD PP 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-FDB15Z-P1-MD PP 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-FDB18Z-P1-MD PP 63(2.5") 25 80 24 70X58 55X42 8.4 40
L03-FDB18Z-P1-MD PP 75(3") 25 99 30 70X58 55X42 8.4 50
» 4 " . o -
NO. O @ & &
@ © f1 Al
Wheel Material Whaeel Dia ‘Wheael Width Owerall Heght Swivel Radus Threaded Size Lond Cay
Model M5 #TH i (om) R (om) AT (mm ) HEh R (am) EFFR (om) & Wikg
L015-LS12Z-P1-MD-M8*25 PP 38(1.5") 17 50 16 MeX 25 20
L02-LS15Z-P1-MD-Mg#25 PP 50(2") 22 65.5 19 M8X25 35
L025-LS18Z~-P1-MD-M12*30 PP 63(2.5") 25 80 24 M12X30 40
S L03-LS18Z-P1-MD-M12*30 PP 75(3") 25 88 30 M12X30 50
No b=t et = =
S © % @_I &_I
é Wheel Material Wheel Dia ‘Whael Width Owerall Height Mellpnm Threaded Size Load Caj
i Model T4 P 0 R (am) £ (un) AN () WS (am) MR am) ® ks
& L0O15-LDB12Z-P1-MD-M8%*25 PP 38(1.5") 17 50 16 Mex25 20
-f' L02-LDB15Z-P1-MD-M8*25 PP 50(2") 22 65.5 19 M8X25 35
S .,f L025-LDB18Z-P1-MD-M12*30 PP 6312.5") 25 80 24 M12X30 40
— LO3-LDB18Z-P1-MD-M12+*30 PP 75(3") 25 ag 20 M12X30 50

#: FRRTHAEFIFRME, €F1-3MMEE, EHRITWAME. 1.5"E2"EHFEM10X15, 2.5"R3"£FATHEM10X15/25.



BRI R IR 5

Light Duty Soft/Hard Rubber Caster

FIRRm LR

Surface Coating

AP ik AL

Caster Combination

[ ek p— p—s 4
5 =0 [* " [& o
NO. ©@ § ¥ & )
—_
: .3 WheelMaterial ~ Wheel Dia  Wheel Width  OveraliHeight  Swivel Radius Plate Size  Hole Specing Hole Size  Losd Capaci
: Model X £THE %R (m) ) A () SRR (mn) m) AL i e} R

L015-F12Z-R9-MD 38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-F12Z-R9-MD SR/HR  50(2") 22 65.5 19 59X47 46X345 6.4 35
L025-F12Z-R9-MD SR/HR  63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-F12Z-R9-MD SR/HR  75(3") 25 99 30 70X58 55X42 8.4 50
o S — —

NO. 5 G & S o}

Model 11§ YRR R R e it et RS s ey
L015-FS12Z-R9-MD SR/HR  38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-F515Z-R9-MD SR/HR 50(2") 22 65.5 19 59X47 46X34.5 6.4 35
L025-FS18Z-R9-MD SR/HR 63(2.5") 25 80 24 70X58 55X42 8.4 45
L03-FS18Z-R9-MD SR/HR 75(3") 25 99 30 70X58 55X42 8.4 50

Pt (Tatl i —# = .

NO. © § & & = @)
L Model 3 e A el s i Al e i S -
L015-FDB12Z-R9-MD  SR/HR  38(1.5") 17 50 16 45X38 38X27 5.2 20
L02-FDB15Z-R9-MD SR/HR  50(2") 22 65.5 19 59X47 46X34.5 6.4 35
Lo25-FDB18Z-R9-MD  SR/HR  63(2.5") 25 80 24 70X58 55X42 8.4 45
LO3-FDB18Z-R9-MD SR/HR  75(3") 25 99 30 70X58 55X42 8.4 50

S iy - -

NO. & & & &

Model 14 TR RS W WD RN ml ST
L015-L512Z2-R9-MD-MB*25 SR/HR 38(1.5") 17 50 16 M8X25 20
L02-LS15Z-R9-MD-M8*25 SR/HR 50(2") 22 65.5 19 M8X25 35
L025-LS18Z-R9-MD-M12*30 SR/HR 63(2.5') 25 80 24 M12X30 40
L03-LS18Z2-R9-MD-M12*30 SR/HR 75(3") 25 99 30 M12X30 50

NO © g 1 Al
L e m e WRS WU SN WD wieis e
L015-LDB12Z-R9-MD-N8*25 SR/HR 38(1.5") 17 50 16 M8X25 20
L02-LDB15Z-R9-MD-M8*25 SR/HR 50(2") 22 65.5 19 M8X25 35
L025-LDB18Z-R9-MD-M12*%30 SR/HR 63(2.5") 25 80 24 M12X30 40
L03-LDB18Z-R9-MD-M12%30 SR/HR 75(3") 25 99 30 M12X30 50

F: FRRTHBIAEFIERNE, SF1-3MMEE, BERZHbgE. 1.5"R2"LTFEMI10X15, 2.5"R3"E£FAEMI0X15/25,



TarvyaDa

@ RIS BRI N 2R e ERTPRES

LIGHT SINGLE BRAKE SILENT WHEEL TPR SERIES

BRRikAL

Caster Combination

HIRRE LR

| £
Surface Coating @

NO. @ § @& & fr B @ ©

Wheel Dia Wheel Width  Load Capacity Overall Height Hale Spacing Flate Size Hole Size

Model B8 % (mm) ®® (mm) & H(kg) LR (mm) 7. 88 (mm) TRt mm) FLEE(mm]}
THEE [ : : ' ; '
frhitaad 25 13 10 . 38 29*21 38*30 4.2
1255 @R ' ' .
B 32 13 15 . 43 . 30*23 39*33 42
1.5TEE 4 +,
bl 38 17 20 53 36'28 46*40 52
BRI EE ' ' |
Single brake 2-inch fived 50 18 25 64 | 36*es 46%40 2.2

IETNZRF) Swivel series
e

g & 4 G

Bl © &

Model & & u;hgll"?':] “;k;l?"‘m';r; midc“?‘:g? %mj ﬁhl:mﬁ: &J‘!'ﬂsﬂ(‘.:n'm: HH?;:Srlnzne-l) %’“ﬁ’#:ﬂ
1-inlc:_rn_:||j§§?iue| | 25 13 10 38 2921 [ 38*30 4.2 [ 28
1.215'.231?,,%?&. 32 13 15 43 3023 39433 42 32
1.5?i;-|5r?mljf£§§i]im | 38 17 20 53 36*28 46*40 52 40
S e | 50 | 18 5 | e 36+28 46440 2| 4

FIZEZFI Brake series
: NO.

T A @ @ BE B &

Model B3 Wl W (R RO SRRERM R e 8 (mm) RS (mm)
. | = 1 10 38 | 2921 38430 42 51
LTI | 2 | 13 15 e | w23 | 393 2 | s
TR | = o7 20 53 | 36'28 4640 52 61
i 5ing|ﬁiﬁﬁ3ﬁ@fmﬂ 50 18 25 &4 | 36*28 46*40 5.2 64

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



FHEESCIY

TarvyaDa

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

BEEZEF Fixed series

BB QAR HTRTPRRS

LIGHT DOUBLE BRAKE SILENT WHEEL TPR SERIES

- o r Tt — = —
™ NO. © § & ol
S = £ o ol i o
| Wheel Dia Wheel Width Load Capacity  Overall Height 2 S P
ate siIze 1}
Model &2 %8 (mm) RE (mm) KW (kg) EAMWE(mM) Tl ok i A B(mm)
B il o o = 35 ‘ 75 4533 61'50 62
;‘)_ ss,z,i"% 63 22 55 90 52*33 70*52 6.2
it 75 25 65 103 54439 73°60 82
T 100 25 75 129 54+39 7360 82
iBTN % Swivel series
- oy o =5 =4 o
= NO. § &@ 4 @B b1l ©® ¢
i lole Size
Model 18 ‘:&hé![lrr?:-:’: wmﬂ:‘l h;.dﬁ;]y %ﬁ#ﬂlﬂ Iﬁm; ﬂﬂi‘l‘i“is‘!r;:mr l;!.:msmrm m.
End S
Dcub?:g 3?:: f‘iifﬁ"fff“ w29 20 35 75 45433 61750 62 53
z_s?iﬁﬁfﬁfﬂm 63 22 55 90 52433 70452 62 65
T, 75 25 65 103 54439 73*60 82 75
4_::?11%;%1:'}?& wo | 25 75 129 54439 73760 82 8s
FIZEZRFI Brake series
- _ b by . .
NO. © § & & G O &
' 3 :
el gy Rew R KA Fmmem R Miwem  Rem  Resson
2 PR = .
Double brake 2-inch top plate braks 50 20 35 75 45*33 61750 6.2 ar
éfﬁfﬁ?ih 63 22 55 90 52+33 70°52 62 87
!_Iiﬁi‘fﬂfm 75 25 65 103 54+39 73°60 62 100
,,_Ii?i?,f:ﬁﬁm 00 | 25 75 129 54439 73460 82 109

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.




FHEESCIY

TarvyaDa

'_'\ I

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

E: FaRTHALFIERME,

REBETPRIGH RS

TPRLGHTDUTY CASTOR STEM SERIES

NO.

el

] Ring Stem
Medel B ghéﬁ(l!l?r:! w&;rmd:) bidgm? ST (mm)) HEREE (mm) -FII%-H mm)
TIHEER 25 13 10 38 28
1-inch stem swivel
1.25°f@MEEh
1.25-inch stem swivel 32 13 15 43 32
HEH 11422
SRR 38 17 20 53 40
1.5-inch sterm swivel
B2 THEHED
Single brake 2-inch bl 30 18 25 64 48
TR T HEH AR
Dauble brake 2-inch stem swivel 50 20 35 75 53
2. 5 EH TS
25inch stem swivel 63 22 55 20 65
. 11*22/11*38
iEEd = = = e =
-inch stem swivel
AT TRtTiSEE) - 48 5

4-inch stem swivel

100 32

FIZEZE % Brake series

No.

& & &

Al

5 Ring 5
Model B3 s R am B Rm  ssmwimm et (mm) FHR(mm)
i_fjtﬁﬁﬂiﬁ 25 13 10 18 51
1-inch stem brake
1. 25T EHRIE
1.25-inch stem brake 32 13 15 43 53
| 11*22
1.5IREHRIE 38 17 20 53 61
1.5-imch stem brake
mREHETNE
Single brake 2-fnch stem beake 50 18 25 64 64
W2 HEHFRE
Double brake 2-inch siem brake 50 20 35 75 87
2 5<HEHFIE
25-inch stam brake 63 22 55 90 a7
. X i 1 * *
ITIEHHE 75 25 65 103 100 Hteaf e
3einch stemn brake
AT 100 32 75 133 1

4-inch stem brake

SH1-3MMRE, REUSHAiE,




TarvyaDa

L BT 42 R $ ETPRL 4 2 5
N4 TPR LIGHT DUTY CASTOR THREAD SERIES

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

= SETNZR 51 Swivel series
. -_# L 4 *| -
s
P — ﬁ'()_ g @) G @7 ]
L7 eol Dia Feight - Thraadad Size
Model BE ‘;&h& tln?ﬂl) “é';'m'nh; lo:"kd %‘m‘f %{mm] ﬁ*&fﬁnu:n: EFR T (mm)
1T EATERD
Yk T sl 25 13 10 38 28
1255 bR ME*15/M8*15
1.25-inch Thread swivel 32 13 15 43 32
1.5 4D
= 1:5-inch Thread swivel 33 17 20 53 40 | mg:;g
= SRR L HEERD ;
. Single brake 2-inch Thread swivel 50 18 25 64 48 M10*25
—— UG AN Eed ¢ ]
L — Double brake 2inch Thread swivel 50 20 35 75 53
2 5T £4TiEs
25-inch Th lu; swivel 63 22 55 90 65
IR M10%25/M12°25
3-inch Thread swivel 75 25 65 103 75
A eATiER
d-inch ‘rhnea‘d swivel 100 32 75 133 86

FIZEZE % Brake series

£
=
= he. 5 & & & X
' el Dia Sl Rach Threadaed Size
- Model B S A e~ Ml ° T ER () S (mom) R Hmm)
- — - - — — ———
Y T TEATHE 25 13 10 38 51
1-inch Thread braks
R ME*15/M8*15
1.25 £
1,25-inch Thread brake 32 13 15 43 53
1.5 EATRIE .
1.5-inch Thread brake B i 2 2 ad mg* ;g
BRI T RIE *
Single brake 2-inch Thread brake 50 18 25 64 64 M10*25
IRFIFR2 T LRI
Double brake 2-inch Thread brake 50 20 . 35 75 a7
b b i % 22 55 9% 87
I ERRIE M10*25/M12*25
i--nch'_l'gread brakes 75 25 65 103 100
A5t SR
4-inch Thread brake 100 32 75 133 1M1

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



TarvyaDa

@ RIS H A TPRERE WA 2K 2 5

TPR WITH SINGLE BEARING SILENT MODEL

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

BEEZE% Fixed series
NO.

T ® & G [ou

Product
i Wheel Dia  WheelWidth Load Capacity  Overall Height Plate Size Hole Size Hale Spacing
Maode! 28§ ®8 (mm) BE (mm) & (ko) EEEEE(mm)  EER(mm) 7L 42 (mm) LBE (mm)
15STMEERE (i)
1.5-inch twin wheel fixed 38 17 &0 62 52*35 T71*55 84
(Chrame)
e | - = 1 L = = .
Twin whesl
2UTER (B8)
2-inch twin wheed fied 50 18 BO 73 52*35 71%55 8.4
[Chrome)

SERNZFI Swivel series
‘ NO.

f & ¢ B B ©

- Pr;déct
ot we RS R FE A SR REEN  TES
LSS (8
1.5-inch twin wheel top plate 38 17 60 62 52*35 72*51 84
swivel (Chrome)
TUETE
Twin wheel
2L FIEE (EHE)
2-inch twin wheel top plate 50 18 80 73 52*35 72*51 84
swivel (Chrome)

RIZEZFZE S Brake series
u&

§ & & B o ©

- — pr;:%m
i oad werall He ale Size Hale:
Model % B mm) WE (vm) Ao FARE(M)  sRdm  ASimm) R )
15YMEFRERE (1248)
1.5-inch twin wheel top plate 38 17 60 62 52*35 72*51 84
brake (Chrome)
FAETR
Twin wheel

2HTURCFMERIE (H68)
2-inch twin wheel top plate 50 18 BO 73 52*35 72*51 84

brake (Chrome)

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



BRRikAL

Caster Combination

HIRRE LR

Surface Coating

RERAWNBRLEFRT

TWIN WHEEL LIGHT DUTY CASTOR THREAD SERIES

g o ; 5
-- NO. § @ &4 & Al
— Wheel Dia  WheelWidth  Load Capacity Qverall Height Swivel Radius Threaded Size
——_— Model 35 ##@ (mm) 8E (mm) * B (kg} SHEME(mm) SRR (mm) R (mm)
Wee1 . SredFiEah
twin wheel 1.5-inch Thread seivel 38 17 60 62 28
=
_:' M12*25/10*25
e
TWdE2 < e ED
twin wheel 2-inch Thread swivel 50 18 80 72 32

FIZEZ 5 Brake series

E .
NO. 5 g &
NO. Al
—— el Di. i Threaded Size
- Model 8% Walnm) RR (m RG] SRRmem)  Heesmm) RIS ()
RS TR
twin wheel 1.5-inch Thread brake 38 17 60 62 51
M12*25/10*25
G2 ELAFRIZE
twin wheel 2-inch Thread brake 50 18 80 72 53
E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.




REFXANRTHT R

TWIN WHEEL LIGHT DUTY CASTOR STEM SERIES

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

NO. g © 1 o] Al

Whee! Dia Wheel Widih Load Capacity Overall Haight Plate Size Ring Stem
Model % 48 (mm) % (mm) 1 (kg) EEHWIE (mim ) et St mn) 8 R (mm)
1.5 BtiEaD
1.5-inch stem swivel 38 L 60 62 28
11*22
2 tETiSan
2-inch stem swivel 50 18 80 73 32

FIZEZ 51 Brake series

5 —
NO. g @) &l [o iy
ABoh

Wheel DI Wheel Width Load Capacity ‘Owerall Heigh! ate Size Ring Stem

Model B % W2 (mm) W (mm) B ko) TR () A ) R A ()

15 iETRIE 38 17 60 62 51

1,5-inch stem brake

11=22

ITHERIE 50 18 80 3 53

2-inch stem brake

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



HZEBINMRXATPRERARS

LIGHT SINGLE BRAKE FURNITURE TPR SPLINT SERIES

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

LBETNZRS L- shaped swivel series

e = —t
NO. 5 g [ &
Wheel Dis Wihesl Width Lasad Capacity Overall Hedght Plate Siza Hale Size Swdval Radius
Model 25 i (mm) SEW (mm) & B (kg) FAEREE (mm) R (mm) L% (mm) FeahEie(mm)
) ' LR
1-inch L-shaped swivel 25 13 10 38 32*24 4.2 28
| FliEE
Sl i ot 32 13 15 43 32+24 42 32
15 ?n'csh?l_fpjz?ilm 38 17 20 53 42*34 5.2 40
HBFE 2T LENERD "
Single brake 2-Inch L-shaped swivel 50 8 25 64 42+34 5.2 48

LBFRZEZRES L- type brake series

L g g [ &
Model B S i;h;e:l“?:} Wﬁh;l :\'l:‘d'::; LD;‘(;P[:IQT MH#;‘J Plate si'x“em] H;loggs.:‘z':‘: Swival na?:‘:‘_.:"}
1- 1H-L?éﬁ$ 25 13 10 38 32%24 42 5
inch L-shaped brake
1259 LB .
125-irch Lshaped brake 32 13 15 43 32424 42 53
1.5 LERIE .
125-inch L-shaped brake 38 i 20 53 42+34 5.2 61
e .
Sirigle: brake 2-inch L-type brake 50 18 25 64 4234 52 64

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



BRRikAL

Caster Combination

HIRRE LR

Surface Coating

HZEBINMRXATPRERARS

LIGHT SINGLE BRAKE FURNITURE TPR SPLINT SERIES

UBLETNERF U-shaped swivel series
oo O F B @ B & § =

Modo! T8 Tl R )RR BREMM  WERGem  AiSime) RS RBMM
‘ T T T 13 10 38 32427 52 28 17 |
= zs‘.iﬁlﬁﬁwu | 32 | 13 5 43 07 | sz | 32 17 |
| elogumes | 38 17 20 53 4031 52 a0 |16/18/20/22/25
| | 58 18 25 64 40*31 5.2 48 |16/18/20/22/25 |

UBIFIZEZEFI U-type brake
No. © B & § m

Wode| B & Bl NN ) R E(vg) SEEM(  mERGmm A Simw) HORSme) AR
Vo e | 25 13 10 38 32%27 5.2 51 o
agumE g | g3 15 43 32727 s2 | 53 17 |
e, | 38 17 20 53 4031 5.2 61  |16/18/20/22/25
s,qﬁﬂﬁﬂ'ﬂ%*ﬁhm [ 50 | 18 25 64 40%31 52 | e 1611872022725

JBLERNZES J-type swivel series
N @ § &8 @ B = §m

Wheel Dia Wheel Width Plate Size Hale Size Sl Radlius
Model 38 ®E (mm)  ®W (mm) it m |k;';? ﬁ!u:mm} EERTmm)  fLE(mm) RS mm) ﬂﬂ:mmb
wmnishee | 38 | w | 2 | s | 52 o | 2 |
i 1w ‘ 50 18 I 25 64 4921 5.2 48 20 |

Single brake 2-inch J-type swivel

JBUFIZEZFI J-type brake series
No. © § & @ B = & =

Internal
Wheel Dia  WheelWidth  LoadCagacity  Overall Height Plate Size Hole Size Swihvel Raclius Diameter
Mode| B & # (mm)  BW (mm) # W (kg) eSS (mm) EERTmm) A (mm) sk mm) W {mm)
1,55 JBFHIE
1.5-inch J-type brake 38 17 20 53 49*21 52 61 20 |
2 IBFE N
sm;fhn!ke 2-inch 1-type brake 50 18 25 64 49+21 5.2 64 20

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



B i e 42 R 5

LIGHT DRAWER WHEEL SERIES

BRRikAL

Caster Combination

HIRRE LR

Surface Coating

m EEFH 75 Fixed series

=Y iy =4 = =
o NO. © § & & ©r [o
&
Wheel Dia WheelWidth  Load Capaci Sverall Height HnleSpa: Plate Size Hole Size
Model B8 ®@# (mm) BE (mm) & (kg EIRE (mm) FL BE (mm) TR mm FLi#E(mm)
1oER
\ ik fos 25 12 8 28 32 42*20 4.2
’ 1
.
1259 @E
_ e i 32 12 12 35 46 53*20 52
s d
e
Drawer wheel
——
1.59EE 38 16 15 46 54 68725 6.2
1.5-Inch fixed
1 ¥
— -~
J 2HEE "
2inch fed 50 17 20 52 54 6825 6.2
¢

E: FRRTHALFIFRME, SF1-3MMRE, BELTHmAE.



@ SRIATY o B 3% 5 18 5 B 42

Medium Duty Double Ball Bearing Caster

TaIvYya3Da

P3Pk AL

FIRREAE

Surface Coating

: NO. ©® @ § & & k& B = &

= woi W VS WEOs R omues e SR ESROCRS YRS
MO03-F23Z-PVBOH94-6001 PVC 75(3") 32 105 36 93x62 72X45 8.5 70
M04-F23Z-PVBOH94-6001 PVC 100(4") 32 130 35 93X62 T72X45 8.5 80
MO05-F23Z-PVOBH94-6001 PVC 125(5") 32 158 345 93X62 T72X45 8.5 100

No. © @ § @ § o

Wheel Material Wheel Dia Wheel Width Overall Height Swivel Radius
Model #5 T #@ (mm) TSR (nm) Bl

o

Hole Size.  LoadCapacity |
L #@2lmm) & Wikl

Plate Size
MM (am

MO03-FS$23Z-PVOBH94-6001 PVC 75(3") 32 105 36

93x62  72X45 8.5 70
M04-FS23Z-PVOBH94-6001 PVC  100(4") 32 130 35 93X62 72X45 85 80
M05-FS23Z-PVOBH94-6001 PVC 125(5"} 32 158 34.5 93X62 T72X45 8.5 100

o yre — — ’
| NO. g & & B O @)
) Lot ms RN OWED WD SR EREW MG TEDPHS RRE
\- \"‘J° M03-FDB23Z-PVOBH94-6001 PVC 75(3") a2 105 36 93x62 72X45 a5 70
v M04-FDB23Z-PVOBH94-6001 PVC 100(4") 32 130 35 93X62 72X45 8.5 80
M05-FDB23Z-PVOBH94-6001 PVC 125(5") 32 158 345 93X62 72X45 8.5 100

L N ®@ § ¢ ¢ XA

- : Wheel Material Wheel Dia Wheel Width Overall ht Swivel Radlius Threaded 5i Leoad Ca i
5‘?} i Model 1 5 RTH % () BE (m) TR () WS (am) S FRA (om) & K (ke) |
MO03-LS23Z-PVOBH94-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
M04-1523Z-PVOBH94-6001-M12*30 PVC 100(4") 32 130

35 M12x30 80
M05-L523Z-PVOBH94-6001-M12*30 PVC 125(5") 32 158 345 M12x30 100
L] e - -

| NO. © § & ¢ & &

S8 | wwmy o A WS | WWhS S W WG CRE
® G ° ' M03-LDB23Z-PVOBH94-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
v M04-LDB23Z-PVOBH94-6001-M12%30 PVC 100(4") 32 130 35 M12x30 80
M05-LDB23Z-PVOBH94-6001-M12*30 PVC 125(5") 32 158 34.5 M12x30 100

F: FRRIHAEFIERMNE, €FH1-3VMMEE, IEASZHIR, BHMTHAE.



TaIvyaoDa

@ SRIATY e B 30 4 3 7E B 58

Medium Duty Double Ball Bearing Caster

P3Pk AL

FIRREAE

Surface Coating

4'[!' ‘ l(

No. ©® @ § & & kbl & @ &

2 4 | Model m9 RTHR W  ER (w)  SwmN(an Kalbmw KA A Res L few % B08
MO03-F23Z-PVBOH94-6001 PVC  75(3") 32 105 36 93x62 72X45 8.5 70
M04-F23Z-PVBOHS4-6001 PVC  100(4") 32 130 35 93X62 72X45 85 80
MO05-F23Z-PVOBHS4-6001 PVC ~ 125(5%) 32 158 345 93X62 72X45 8.5 100

No. © @ § & & T & @ &

M\eeiMamial WheeE:nIa erel Width meuh?ﬂ; %;&Rﬂdhﬂ P;;}‘:;Lzen LuadCEp}a:Jsl:y
M03-F$23Z-PVOBH94-6001 PVC 75(3") 32 105 36 93x62 70
M04-FS23Z-PVOBH94-6001 PVC  100(4") 32 130 35 93X62 80
M05-FS23Z-PVOBH94-6001 PVC 125(5"} 32 158 34.5 93X62 T2X45 8.5 100

e i — —
NO. § & & [ b o &
........... was 8 ETVE MRS WD SN WREW GG TEDOPRS RTY
M03-FDB23Z-PVOBH94-6001 PVC 75(3") a2 105 36 93x62 72X45 a5 70
M04-FDB23Z-PVOBH94-6001 PVC 100(4") 32 130 35 93X62 72X45 8.5 80
M05-FDB23Z-PVOBH94-6001 PVC 125(5") 32 158 345 93X62 72X45 8.5 100
Wi s

NO. i @ & &
ey WS W RS N ml Ty |
M03-L523Z-PVOBH94-6001-M12%¥30 PVC 75(3") 32 105 36 M12x30 70
M04-L523Z-PVOBH94-6001-M12#30 PVC 100(4") 32 130 35 M12x30 80
M05-L523Z-PVOBH94-6001-M12*30 PVC 125(5") 32 158 345 M12x30 100

LN Uas o -

NO. © § & ¢ & &
[ ORI RISS R omhees  piad  Tigedin oy
MO03-LDB23Z-PVOBH94-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
M04-LDB23Z-PVOBH94-6001-M12%30 PVC 100(4") 32 130 35 M12x30 80
M05-LDB23Z-PVOBH94-6001-M12*30 PVC 125(5") 32 158 34.5 M12x30 100

#: FRRTHASFIFRMNE, £F1-3VMMEE, RIEASHUIR, B4MTHhAE,



B I 4h T ok B 52

Medium Duty Double Ball Bearing Industry Caster

.!__‘__ |
& [:(

Caster Combination

ZIRRELE

Surface Coating

/,—.. 1 [F o

NO. © § & § B ©x @

. ; % WheelMaterial ~ Wheel Dia  WheelWidth ~ OversllHeight  Swiveladius  Plate Size  HoleS ey
= Modal. BB T H i Wk () KR (am)  BEM () A (mm) BT (om) L (am L flom) & Rlkg)

M03-F232-PBO1-6001 PP 75(3") 32 105 36 93x62 72X45 8.5 70
’@ M04-F23Z-PBO1-6001 PP 100(4") 32 130 35 93X62 72X45 8.5 80
M05-F23Z-PBO1-6001 PP 125(5") 32 158 345 93X62 72X45 8.5 100
-
NO. c fF @ & B B o &
i NO. © [Of (&
- H Whee! Material Wheel Dia Wheel Width  OwerallHeight  Swived Radius Plate Size Hole Spac Hole Size Load:apa:lty
~ H Model 1 5 A 4% (mm) B® (mm) iﬁﬁﬁimn} e (om) R () AL (o il #imm) # Wike
MO03-FS23Z-PB0O1-6001 PP 75(3") 32 105 36 93x62 72X45 8.5 70
M04-FS23Z-PBO1-6001 PP 100(4") 32 130 35 93X62 72X45 8.5 80
M05-F523Z-PBO1-6001 PP 125(5") 32 158 345 93X62 72X45 8.5 100
L3 4 » - —
= = . 2
NO. © § & & oY
< e o - Wheel Material Wheel DI Wheel Width  Owverall Helgh Swivel Radius Plate Si Hal { Hole 5i. Load H
= Model % TEHE  RR(m  BF (m  SEmNS NotGme RETR  RER e A BGe
‘J- ol
‘ \1— 7 M03-FDB23Z-PBO1-6001 PP 75(3") 32 105 36 93x62 72X45 8.5 70
F M04-FDB23Z-PBO1-6001 PP 100(4") 32 130 35 93X62 72X45 8.5 80
MO05-FDB23Z-PBO1-6001 PP 125(5") 32 158 345 93X62 72X45 8.5 100
i E By T g
NO. 6 5 @ & &
i NO. &
— i Wheel Material Wheel Width Overall Height Swivel Radiu Threaded 5i oad
= i Model 1% CTHR WE () REAGm)  HAEEw BWRdm)  OF Bk
M03-LS23Z-PBO1-6001-M12*30 PP 75(3") 32 105 36 M12x30 70
&' M04-LS23Z-PBO1-6001-M12*30 PP 100(4") 32 130 35 M12x30 a0
M05-L523Z-PBO1-6001-M12*30 PP 125(5") 32 158 345 M12x30 100
.”_"' Fry i
| NO. @ § ¢ ¢ &b &
: Wheel Material Wheel Dia Wheel Width Overall Height Swivel Radius Threaded Size Load Ca
Ld P Model ﬂ‘i ®7HH £ () 8 (om) LA (nn) R (nm) R o} (mm) & (ke
L= bos Frrree e e RS Sy e e S e reestrerrtme st re e
o P M03-LDB23Z-PBO1-6001-M12*30 PP 75(3") 32 105 36 M12x30 70
a‘ M04-1LDB23Z-PBO1-6001-M12*30 PP 100(4") 32 130 35 M12x30 80
M05-LDB23Z-PBO1-6001-M12*30 PP 125{5"") 32 158 34.5 M12x30 100

F: FRRTHAEFIFERUNE, €H1-3MVRE, WIEASERRE, RENTMAE.



B I 4h T ok B 52

Medium Duty Double Ball Bearing Industry Caster

.!__‘__ |
& [:(

PRER

Caster Combination

No. © © § & & o ©©x o &

ZIRRELE

Surface Coating

[ moda M8 MR WEtoy BRI NN WmEen e, 'Sy foatm ooy
M03-F23Z-PBO1-6001  PVC 75(3") 32 105 36 93x62 72X45 8.5 70
MO04-F23Z-PBO1-6001 PVC 100(4") 32 130 35 93X62 72X45 8.5 80
M05-F23Z-PBO1-6001 PVC 125(5") 32 158 345 93X62 72X45 8.5 100
b= " S o — o

NO. f @ & @B

Model 15 VETHE S8 m)  BE () DWAE ) HAFEGe BERT(m AR m S Ok R0
MO03-FS23Z-PBO1-6001 PVC 75(3") 32 105 36 93x62  72X45 8.5 70
M04-FS23Z-PBO1-6001  PVC 100{(4") 32 130 35 93X62  72X45 8.5 80
M05-F523Z-PBO1-6001  PVC 125(5") 32 158 345 93X62  T72X45 8.5 100

NO. ©@ § & & o [of
Caped

- Wheel Material Wheel Dia Wheel Width OverallHelght  Swivel Radius Plate Size Haole Spacing Hole Size Load ity '
e e JETHE  RE (n) R (m) SRRV e MERTm) ARG e & Khe
M03-FDB23Z-PBO1-6001 PVC 75(3") 32 105 36 93x62 72X45 8.5 70
M04-FDB23Z-PBO1-6001 PVC 100(4") 32 130 35 93X62 72X45 8.5 80
M05-FDB23Z2-PBO1-6001 PVC 125(5") 32 158 345 93X62 72X45 8.5 100
5 o SR>
NO. 5 9 & & &
Wheel Material Whesl Width Overall Height Swivel Radius Threaded Size LDIiCIDK“;
e crerreomrn T o R sl OIS DO 0 OO e
M03-LS23Z-PBO1-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
M04-LS23Z-PBO1-6001-M12*30 PVC 100(4") 32 130 35 M12x30 80
M05-L523Z-PBO1-6001-M12*30 PVC 125(5") 32 158 345 M12x30 100
.”_"' et i
NO. © 5§ ¢l & X B8
Wheel Material Wheel Dia Wheel Width Overall Height Swivel Radius Threaded Size Load Ca
Model ﬂ‘i ®7HH £ () R (nm) FHAGHE (nn) SE (om) R o} (mm) & M (ke
M03-LDB23Z-PBO1-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
M04-LDB23Z-PBO1-6001-M12%30 PVC 100(4") 32 130 35 M12x30 80
M05-LDB23Z-PBO1-6001-M12*30 PVC 125(5") 32 158 345 M12x30 100

F: FRRTHAEFIFERUNE, €H1-3MVRE, WIEASERRE, RENTMAE.



G FRETL

TaIYyaDa

rh &Y A 4PV CR 48

AP ik AL

Caster Combination

PVAOH94

IIRFTmEAIE

Surface Coating

Medium Duty Single Ball Bearing pvc Caster

.ili- k
_f' ‘
q Py

{

NO. § & &
o WheelMateril ~ Wheel Dia  Wheel Width  OverallHeight  SwivelRadius  Plate Size  HoleSpacing Hole Size  Load ,|-§
Modal T £ 7 H %4 (nn) AN (on)  LHRTE(aw)  MERE(em)  REUCH(nn) 3L B (ee) {wn) & W(ke)
M03-F23Z2-PVAOH94-6001 PVC 75(3") 32 105 36 93x62 72X45 8.5 70
M04-F23Z-PVAOH94-6001 PVC 100(4") 32 130 35 93X62 72X45 8.5 80
MO05-F23Z-PVABH94-6001 PVC 125(5") 32 158 345 93X62 T72X45 8.5 100
bt (Tt p— == —
N. © @ § & & B o & &
NO. © 6] 0]
‘Wheel Material Wheesl Dia Wheal Width Cwerall Helght Swivel Radius Plate Size Hole Hole Size Load Ca :
Model 15 $FHE 8B (o) W (m)  EYRE(m) R () EERT(an) 4L 6 (o A flom) A Wike) G
MO03-FS23Z-PVABH94-6001 PVC 75(3") 32 105 36 93x62  72X45 8.5 70
M04-FS23Z-PVABH94-6001 PVC 100(4") 32 130 is 93X62 72X45 85 80
MO05-FS23Z-PVABH94-6001 PVC 125(5") 32 158 345 93X62 72X45 8.5 100
NO. 5 F & & 1 B O
NO. Bl (o] @
y Wheel Matesial eal Dia el th rall | Raclius. a ze Hole ole Size oad i
Model %5 ETHR  BR(m  BF n)  REWEGm NmMEmn ERRTGm R Ren LR K R0s |
MO03-FDB23Z-PVABH94-6001 PVC 75(3") 32 105 36 93x62 72X45 8.5 70
M04-FDB23Z-PVABH94-6001 PVC 100(4") 32 130 35 93X62 72X45 8.5 80
M05-FDB23Z-PVABH94-6001 PVC 125(5") 32 158 345 93X62 T2X45 8.5 100
L L]
NO. § ¢l & XN
Wheel Material Wheel Dia Wheal Width Owvorall Holght Swivel Raclius Threadad Size Load Ca
Model 1§ ®THE 8 (um) R (nm) SIS () SRR (am) HFFR A (mn) & I (kg
MO03-L523Z-PVABH34-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
M04-LS23Z-PVABH94-6001-M12%30 PVC 100(4™) 32 130 35 M12x30 80
MO05-LS23Z-PVABH94-6001-M12*30 PVC 125(5") 32 158 345 M12x30 100
t=t il ¥ B
; NO. § @ & A &
S -y VA e | oo SEww WG WO TR |
\"}ﬁ’ﬂ MO03-LDB23Z-PVABH94-6001-M12*30 PVC 75(3") 32 105 36 M12x30 70
& M04-LDB23Z-PVABH94-6001-M12*30 PVC 100(4") 32 130 35 M12x30 a0
MO05-LDB23Z-PVABH94-6001-M12*30 PVC 125(5") 32 158 345 M12x30 100
i FRRITHAGFIERNE, £H1-3MMEZE, R{EASEWIE, BENTHHE.



Gy FeRRiAS o 42 B 4 B 5

‘v TaY3ID3

Mid/Light Duty Gray Rubber Caster

. . (
X

PREAR

—

-."

v B

RRE A

Surface Coating

L3 .—.\ » “ T T
NO § & & o & © &
.
m NO. © 7 o] Bt (o
H . WheelMaterial  Wheel Dia  WheelWidth  Overall Helght  Swivel Radius Plate Size Hole Spacing Hole Size  Load Capa
Model 21§ EEHE  RE (am) R () RRAE () GOEG e RENTem) B m e R ROE) :

G02-F23Z-PVAF86-MG PVC 50(2") 17 68 20 65x48 46X26.5 6.5 30
G025-F23Z-PVAF86-MG  PVC 63(2.5") 21 90 25 65x48 46X26.5 6.5 40
G03-F23Z-PVAFB6-MG PVC 75(3") 21 99 30 100X58 72X31.5 6.5 50
G04-F23Z-PVAF86-MG PVC 100(4") 25 130 32 100X58 72X31.5 8.5 60
G05-F23Z-PVAF86-MG PVC 125(5") 25 153 32 100X58 72X31.5 8.5 70

NO =y 4L —+ e
NO. § & & ©
Model %8 Mﬁ!ﬂmﬁal \gglieéel Dia \O\gwel‘lﬁdﬂ\ Overall Hntlg*m‘\!) f;;el Radius Plate Size ﬁ!é)?:‘i:;? Hole Size Lo’n;:i (?:{afily .:

(o) SeYERRRE % (mm)  FARLR T (o} L. Blmn)

~ G02-F523Z-PVAFEB6-MG  PVC 50(2") 17 68 20 50X50 35X35 6.5 30

= -

7 G025-FS23Z-PVAF86-MG PVC 63(2.5") 21 90 25 65X65  45X45 6.5 40
G03-FS23Z-PVAF86-MG PVC 75(3") 21 99 30 65X65  45X45 8.5 50
G04-FS23Z-PVAF86-MG PVC 100(4") 25 130 32 T6X76 55X55 8.5 60
G05-FS23Z-PVAF86-MG  PVC 125(5") 25 153 32 76X76  55X55 8.5 70

NO © 8 & & oy o &
— s+ o o o g g

& Wheel Material Wheel Dia ‘Wheel Width ~ Overall Helght  Swivel Radius Plate Size Hole Spacing Hole Size  Load Capa :
Model 215} BEFHR R (an)  WE (om) SRR (om) R (on)  BERTH o) 3L (o) 7L @len) R Wikg)

G02-FDB23Z-PVAF86-MG PVC 50(2") 17 68 20 50X50 35X35 6.5 30
G025-FDB23Z-PVAF86-MG PVC 63(2.5") 21 0 25 65X65 45X45 6.5 40
G03-FDB23Z-PVAF86-MG PVC 75(3") 21 99 30 65X65  45X45 6.5 50
GD4-FDB23Z-PVAFB6-MG PVC 100(4") 27 130 32 76X76 57X57 8.5 60
G05-FDB23Z-PVAF86-MG PVC 125(5") 27 153 32 76X76  57X57 8.5 70

F: FRRITSALFIERINE, SF1-3VMMEE, UIEASEHIR, BHUSHA.



L FHsl ch 2 0 7% B 4

s/ XSOV SN Mid/Light Duty Gray Rubber Caster

. . . (

PIRIER
Caster Combination PVAF88 PVAF86 PVAF99 PVAF98 PVAF94

g

Z
ik 4 UL
NO. © § ¢ & X

ZARRELE

Surface Coating

oot 39 MO RIS s gmbee e Tmiin  woa
G02-LS23Z-PVAF86-MG-M12*30  PVC 50(2") 15/ 68 20 M10x25 30
G025-15237Z-PVAFB6-MG-M12*30 PVC 63(2.5") 21 90 25 M10x25 40
G03-L823Z-PVAF86-MG-M12*30 PVC 75(3") 21 99 30 M12x30 50
G04-LS23Z-PVAF86-MG-M12*30  PVC 100(4") 25 130 32 M12x30 60
G05-L523Z-PVAF86-MG-M12*30  PVC 125(5") 25 153 32 M12x30 70

NO.

8§ @ & L @&

i
R WESSN  WEMBE MW omwnet  jadam Mo buges |
G02-LDB23Z-PVAF86-MG-M12%30 PVC 50(2") 17 68 20 M10x25 30
G025-LDB23Z-PVAF86-MG-M12#30 PVC B63(2.5") 21 ap 25 M10x25 40
GO03-LDB23Z-PVAF36-MG-M12*30 PVC 75(3") 21 99 30 M12x30 50
G04-LDB23Z-PVAF36-MG-M12*30 PVC 100(4") 25 130 32 M12x30 60
G05-LDB23Z-PVAF86-MG-M12%30 PVC 125(5") 25 153 32 M12x30 70

F: FRRTHASFIFERMNE, £H1-3MMEZE, RIFASZHIR, AEMEhAR,



g

i BA B 38

Transpareant Caster

L

Tarvyaopa

Am - s
T =N SRS s -
W ﬁ @) M: e~
BREE HRRTIE v .~ * B
Caster Combination m Surface Coating

ik Y P— gt ;
NO. § & & of
Wots WY VESemd Db VW ooem Mmmen an R WA PEe
.\'_ T015-F12Z-CU0-ZMD PU+PC  38(15") 235 50 16.5 54X40 30X15 4.5 25
T02-F122-CU0-ZMD  PU+PC  50(2") 21 64 25 58X45  39X19 4.5 30
/.—.. . Tl rmm— | ' p— #
NO. S o mF &
Modst 83 Wl (WSUR) VI comed RSRT SN, e jes o |
r J T015-F§12Z-CU0-ZMD PU+PC  38(15") 235 50 16.5 42X42  32X32 4.5 30
4 '?\‘ T02-F515Z-CU0-ZMD PU+PC  50(2") 21 64 18.5 42X42 32X32 4.5 35
J T03-FS18Z-CU0-ZMD PU+PC  75(3") 22 96.5 28 B0OXB0  45X45 8.5 45
T04-FS18Z-CU0-ZMD PU+PC  100(4") 27 125 32 60X60  45X45 8.5 50
e 'y s et :

L5 f g & & & o
T015-FDB12Z-CU0-ZMD PU+PC 38(1.5") 235 50 16.5 42X42  32X32 4.5 30
T02-FDB15Z-CU0-ZMD PU+PC 50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-FDB18Z-CU0-ZMD PU+PC 75(3") 22 98.5 28 B0XB0D  45X45 8.5 45
TO4-FDB18Z-CU0-ZMD PU+PC 100(4") 27 125 32 60X60 45X45 B.5 50

e

s 5§ g & X4

ose 5% I L S
T015-LS12Z-CU0-ZMD-M8%*25  PU+PC 38(1.5") 235 50 16.5 M8X25 30
T02-L515Z-CUD-ZMD=-M8*25 PU+PC 50(2") 21 64 18.5 M8X25 35
T03-LS18Z-CU0-ZMD-M10%*25  PU+PC 75(3") 22 96.5 28 M10X25/30 45
T04-LS18Z-CU0-ZMD-M10%*25  PU+PC 100(4") 27 125 32 M10X25/30 50

S . - -

NO. 5 ¢ & &

wosel 39 MWD MR oo gmwen  Upweds gy |
T015-LDB12Z-CU0-ZMD-M8*25 PU+PC 38(1.5") 23.5 50 16.5 M8X25 30
T02-LDB15Z-CU0-ZMD-M8%*25  PU4+PC 50(2") 21 64 18.5 MaX25 35
T03-LDB18Z-CU0-ZMD-M10%25 PU+PC 75(3") 22 96.5 28 M10X25/30 45
T04-LDB18Z-CUO0-ZMD-M10*25 PU+PC 100(4") 27 125 32 M10X25/30 50

iH: FRRTHAGFIFRMNE, £F51-3MMRE, REHLEHIE, SEUThAE.



Ly ERATL

i BA B 38

PRER

Caster Combination

HRFEAE

Surface Coating

Transpareant Caster

o 2

ik Y P— gt ;

NO. § & & @

Model 35 T WTIO ERA SE s emiy T gl o |
T015-F12Z-CU0-ZMD PU+PC  38(15") 235 50 16.5 54X40 30x15 4.5 25
T02-F12Z-CU0-ZMD PU+PC 50(2") 21 64 25 56x45 39x19 4.5 30

/.—.. . Tl rmm— | ' p— #

NO. S o mF &

Mods! 115 T DS MRV Omlieer M mRNTE, RSy fRin ledgeey
T015-F§12Z-CU0-ZMD PU+PC  38(15") 235 50 16.5 42X42  32X32 4.5 30
T02-F515Z-CU0-ZMD PU+PC  50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-FS18Z-CU0-ZMD PU+PC  75(3") 22 96.5 28 B0OXB0  45X45 8.5 45
T04-FS18Z-CU0-ZMD PU+PC  100(4") 27 125 37 60X60  45X45 8.5 50

e fome s et :

NO. § & & [ fch (o
T015-FDB12Z-CU0-ZMD PU+PC 38(1.5") 235 50 16.5 42X42  32X32 4.5 30
T02-FDB15Z-CU0-ZMD PU+PC 50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-FDB18Z-CU0-ZMD PU+PC 75(3") 22 96.5 28 B0XB0D  45X45 8.5 45
TO4-FDB18Z-CU0-ZMD PU+PC 100(4") 27 125 32 60X60 45X45 B.5 50

e

NO. § @ & &

] Model 11 % iy Ry R e S i ey S e R o
'{_ﬁ T015-LS12Z-CU0-ZMD-M8%*25  PU+PC 38(1.5") 235 50 16.5 M8X25 30
:‘;-" l T02-L515Z-CUD-ZMD=-M8*25 PU+PC 50(2") 21 64 18.5 M8X25 35

B
;;E‘! T03-LS18Z-CU0-ZMD-M12*30  PU+PC 75(3") 22 96.5 28 M12X30 45
T04-LS18Z-CU0-ZMD-M12*%30  PU+PC 100(4") 27 125 32 M12X30 50
S . - -

NO. 5 ¢ & &

N MWD MR oo gmwen  Upweds gy |
T015-LDB12Z-CU0-ZMD-M8*25 PU+PC 38(1.5") 235 50 16.5 M8X25 30
T02-LDB15Z-CU0-ZMD-M8%*25  PU4+PC 50(2") 21 64 18.5 MaX25 35
T03-LDB18Z-CU0-ZMD-M12%30 PU+PC 75(3") 22 96.5 28 M12X30 45
T04-LDB18Z-CUO0-ZMD-M12*30 PU4+PC 100(4") 27 125 32 M12X30 50

i FRRISBALFIERNE, SH1-3MVEE, EASZTHIR, BEUThAE,



PRER

Caster Combination

HRFEAE

Surface Coating

4 7 3% BA B 4

Double Ball Bearing Transparent Caster

ik

NO. F A § ooy =& &
o Wheal Material Wheel Dia Wheel Width  OverallHeight  Swivel Radius Plate Size Hole Spacing Hole Size Capacity
Medel B 5 RAHE B8 (m X () AN G WEEGm  KECTm R 1 Sem A R
T015-F12Z2-CU0-ZMD PU+PC 38(1.5") 235 50 16.5 54x40 30x15 4.5 25
T02-F12Z-CU0-ZMD PU+PC 50(2") 21 64 25 56x45 39x19 45 30

NO.

. ©®

=

g & BRI ©r

o

———
MDdE"W‘# ______________ mf:'”:?" a_' ______ ?ehﬁeiﬂ? _____ wwh;“?:t:h %ﬂ?ﬁ &M:Hétn:l ég}f Flam) TR tam ?flé:{sﬁe] L'?: c??;:{
T015-FS12Z-CU0-ZMD PU+PC  38(1.5") 23.5 50 16.5 42X42  32X32 4.5 30
T02-F515Z-CU0-ZMD PU+PC  50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-F5182-CUD-ZMD PU+PC  75(3") 22 96.5 28 60X60  45X45 8.5 45
T04-FS182-CUD-ZMD PU+PC  100(4") 27 125 37 60X60  45X45 8.5 50
— fome R

NO. § & & B I [o}
TO15-FDB12Z-CU0-ZMD PU+PC 38(1.5") 235 50 16.5 42X42  32X32 4.5 30
T02-FDB15Z-CU0-ZMD PU+PC 50(2") 21 64 18.5 42X42 32X32 4.5 35
T03-FDB18Z-CU0-ZMD PU+PC 75(3") 22 96.5 28 60XB60  45X45 8.5 45
TO4-FDB18Z-CU0-ZMD PU+PC 100(4") 27 125 32 60X60 45X45 B.5 50

e

s 5§ g & X4

Mot 15 L L L T I s
T015-LS12Z-CU0-ZMD-M8*25  PU+PC 38(1.5") 235 50 16.5 M8X25 30
T02-L515Z-CUD-ZMD=-M8*25 PU+PC 50(2") 21 64 18.5 M8X25 35
T03-LS18Z-CU0-ZMD-M10*25  PU+PC 75(3") 22 96.5 28 M10X25/30 45
T04-LS18Z-CUD-ZMD-M10%*25 PU+PC 100(4") 27 125 32 M10X25/30 50

S . - -

NO. 5 ¢ & &

wosl 39 MWD MR oo gmwen  Upweds gy |
T015-LDB12Z-CU0-ZMD-M8*25 PU+PC 38(1.5") 235 50 16.5 M8X25 30
T02-LDB15Z-CU0-ZMD-M8*25  PU+PC 50(2") 21 64 18.5 M8X25 35
T03-LDB18Z-CU0-ZMD-M10*25 PU+PC 75(3") 22 96.5 28 M10X25/30 45
T04-LDB18Z-CUO0-ZMD-M10*25 PU+PC 100(4") 27 125 32 M10X25/30 50

F: FRRATHAEFIEFRNE,

£H1-3MMIRE, R{EASEWIE,

AEkpxhAaik.




R 4h TR 45y 35 BA 42

Double Ball Bearing Transparent Caster

4 ; —_

SARREAIE

Surface Coating

F ik 5 _ 5 it ik

L ® T & & &

Modsl 15 Ve RS WD S B s ey
T025-1523Z-CU90-6001-M12*30 PU+PC 65(2.5") 24 82 25 M12x30 45
T03-LS23Z-CU90-6001-M12*30 PU+PC 75(3") 24 95 30 M12x30 50

—

@ § ¢ & A

H Wheel Material Wheel Dia Wheel Width Owarall Height Swihvel Radius Threaded Size Load Capaci
H £rHH e (mm) R (om) SEHME (m) 2hEE ) F (mm) & W ikg
T025-LDB23Z-CU%0-6001-M12*30 PU+PC 65(2.5") 24 82 25 M12x30 45
T03-LDB23Z-CU90-6001-M12*30 PU+PC 75(3") 24 95 30 M12x30 50

NO. © ® 8§ ¢ & 4N &

; ‘Wheel Material Wheel Dia Wheel Width ‘Owerall Height Swivel Raciis Ring Stem Lesad Cay
thsarassaen] e SRR nn i ik BT TR o PR e L OO oo L WML S
T025-PS232-CU30-6001-M12#30 PU+PC 65(2.5") 24 82 25 M11x22 45
T03-PS23Z-CU90-6001-M12*30 PU+PC 75(3") 24 95 30 M11x22 50

NO. © @ § & & U &

o] Nodst MY o W WS SENGDWREGD SR REE
T025-PDB23Z-CU90-6001-M12%30 PU+PC 65(2.5") 24 82 25 M11x22 45
T03-PDB23Z-CUS0-6001-M12%30 PU+PC 75(3") 24 95 30 M11x22 50

F: FRRISASGFIFRUE, £F1-3MMEE, WEASERIE, BEUZHAE,



